Using the Calculator D
**You must always remember to check you Iculator. It needs to be in e q{2€ mode
YS i your calculator e |

in order to calculate the answers correctly.

Let's make sure you can use your calculator. Round your answers to two decimal places.
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How would you solve these equations? C jo== ML Y P*\b{
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When given an acute angle measure and a side length, we can use frig to find another side
length of the friangle.

Which trig ratio contains "hypotenuse” and "opposite leg"e < aq_

20 Write an equation that would allow us to solve for x. Then,
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solve for x. Loden B
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Let's fry another one. One More. . .
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